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The treasurers are not permitted to set them free

OVERVIEW

The Xn»12 stated that if someone was w>7pn his 0°72y, the 17213 are not permitted
to set the 0°72v free, rather they may sell the 2>72v to others (with the money going
to wTpr), and the buyers may free them. N0 explains the reason for this rule.'
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And the X713 states a similar ruling in 1921277 299 regarding orphans -
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that the trustees of the estate are not permitted to set the slaves free, but rather

they can sell the slaves to others, etc. and the others may free them -
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And it seems that this is the reason, that it is forbidden to dispose of the slaves
by means of emancipating them since the trustees (and the 2°7213) are
demeaning the property of 2>»1n° and w7 -
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However, when the dispose of the 2>72v by selling them, everyone knows that
the 112131 P091701R are selling them for their full value.

SUMMARY
77213 and 7°0917019X cannot free the 072y (even if they pay the full value of their
redemption) because people are suspicious that they took less than the true value.

THINKING IT OVER
Why does not moon learn like >"w2'd here (and in Peran)?t that the 772713 (or
T°09171IDR) cannot be TIWA the 2°72Y since Q7% M1 19 ]’N‘?S

" The xm3 said that this 12 disagrees with 21 and maintains that m=°r> Xx> X% 1729 w>7pn7 and we assume that
there is a 77172 on the 72vi7 A1) (not like 27 who says w17 1K 191 [see previous 7°913 17"7 '01n TIE footnote # 28]).
The question is, since W17 1913, so the 72y belongs to w7pn why cannot w7pi set him free.

2 This rule applies even if the 0°72y have sufficient funds to redeem themselves (see >"wA there w"»y ,1®¥177 7"7 [See
‘Thinking it over’]). We must assume that by w7pi7 the same rule applies in the same case (see *"'w1 here X 71'"7).

? People may assume when they see the o°72v leave the W of w7pi or 2N’ that the T12m\1P091 X (out of pity
for the 0°72y) may have taken less than the full value of the 72¥ thereby cheating o mn°\w7pi1 of their proper due.

* See footnote # 2.

> See n"ma.



